

- Let $f(x) = \frac{2}{x+3}$ and $g(x) = \frac{1}{x-2}$. Find and completely simplify $f \circ g$. What is the domain of the composition?

$$(f \circ g)(x) = f(g(x)) = \frac{2}{g(x)+3} = \frac{2}{\frac{1}{x-2} + 3}$$

Simplify...

$$\frac{2}{\frac{1}{x-2} + 3} \cdot \frac{(x-2)}{(x-2)} = \frac{2(x-2)}{1 + 3(x-2)} = \frac{2x-4}{3x-5}$$

So,

$$f(g(x)) = \frac{2x-4}{3x-5}$$

THE DOMAIN OF THIS NEW FUNCTION IS
 $\{x : x \neq \frac{5}{3}\}$

* TECHNICAL DETAIL:

WE SHOULD ALSO EXCLUDE $x=2$ FROM THE DOMAIN.

BECAUSE $g(2)$ IS NOT DEFINED. WE CANNOT PLUG $g(2)$ INTO $f(x)$!

DOMAIN OF $f \circ g$ IS $\{x : x \neq \frac{5}{3} \text{ AND } x \neq 2\}$